A BgET T 2T =7 -2

oML R
5, Hc,
sy — e — || TM-05R || — e —n || M OOR vl — ne— || Tov-os || — e —n sl
x| R/ABBA ¢ 55%100H kg AR/EW ¢ 55%100H  litke| /B o 55%100H k| /BB ¢ 55%100H
fiiz fiiz EY)F fiiz fiiz JEY)F
syia|ost— k|| TKG-080 [ ost— k| ww| Tka-075 ||, P |mm| to-o36 || L NOL || TRG-079
> > Py 75— Hlur 75—
A &R ¢ 92%95H A FHE ¢ 92%95H A $AAR ¢ 80%140H AR AR ¢ 75%105H
fiiz fiiz fiiz fiiz
|, NOL ol tkg-o7a ||, NOL  |mm| Tke-065 || <vm |mm| TkG-032 || <vm |mm| TRG-071
JT 5 &\/75_ s]s) JT 5 &\/75_ s]s) JT 5 s]s) JT 5 s]s)
RS HHE ¢ 75%105H 11Kk fk ¢ 75%105H oA 7R ¢ 60%60H oA HE ¢ 60%60H
fiiz fiiz fiiz fiiz
o < [aE] TKG-006 [ s ke [aE] Tke-077 o] s bar [aa] TkG-070 [ AR [aE] TKG-072
Ak LU ¢ 60%60H HoAE &R ¢ 60%86H A% ¥ 6 60%86H oA HHE. ¢ 60%86H
5 i 5 5
o] —ne—n | gas| TRG-078 || —ne—n || TrG-073 || BHEZT (s T-BGB || <D || KT-100pP
iR &R ¢ 58%100H RS HE ¢ 58%x100H AR:S AU b 60%130H aR:d 2 62/68%52H
{5z fi5= {5z {5z

14/33




